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i
Exmp\e 4 : Two people start from the same point. One walks east at _ W 3’&“&/0
3 mi/h and the other walks northeast at 2 mi/h. How ‘\%} =

fast is the distance between the people changing after
15 minutes?

Solukion: Jack: (xOYE)  4=0. (%), 0)

)= position o{l Jock = K l[‘&)'o)l"’“ o-0)*

=j () + 0" =%lp).

PILE) = K{(€) = 3 mi/p,

Mike: (Rale, §©) = poutfion of - Mike = (o ) P (0] =

(o 4s) Nies s y=x oY, =% i
Plie) =5 Xale)= 2 i = |2 (fal)) =B%IE)

WANT - dlistane befueen Mike & Jock  dii= | (61 T + (i3S = &) *+(0xy*
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Exmp\e 4 : Two people start from the same point. One walks east at
3 mi/h and the other walks northeast at 2 mi/h. How

fast is the distance between the people changing after
15 minutes I
~ zT houe

Solution: WANT : distane betaeen Mke & Tack di= |65 7+ B=4F = &) (0-x):

NE

=ml—2-Xl(f)-9(1[%)+Q<2L-6Dl+0<ztﬂ)z =J€K‘Lﬁ))2-27(l('6)?<i~6)\Q(Z(;Lt))"_ H* ) wtone

Jiy =\ 12-60> . f((t)-—-’)(((t?=3m'\/{z,/\»~>?(\lt)=3‘t. ¥ o
i({,) .:_E 9(3-(5%):2 ¥ S Xy = V) 9(2 =
ol =Jiv-6m i 202 2 i, > K= riff o K =Dt
4= | G2 3t BBy :ﬁﬁ;—éﬁﬂz-zﬁ

=\ E-B 4t = (3 -LR)E = 365 t.
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Now: Use derivative to dfaw the groph. Y=$00
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Mean Value Theorem.

e Find (absiract) extreme ponts

we b "y

VK
M4

o Estimodion /(emputotion
/ easier to ontr|

ol the yalue of A, ffc_,? s bound off fox) o] foo.

= 0% X, FTR)==5h ¥ a< N> 2 D5 A
’FOQ {{ ’ A< c<b b—a
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f
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Exngle 3. I fD=8 ond {:—&X_)zl for lex<4, how small can FW pessibl\(j be?

$b\.(ﬂ'foh. —&j{f‘%"l :-'F((C). / ﬁr Soine l<c<4]—_

2

Hay-3 _

AD 3 /\ IS ‘P(A-) “87/3

oy Py =248 =1 4—omollest possible value Hr £




Example 4 Show that the equagion At 4% te=o hos of mest 2 renl roots.

Solution: Fo=x+efec,  {o=lcx* =42(x+3)

13{00 =0~y 4X(x+3)=0. Aa oe ok mininum . ble we can exclude )

X<—77/ —3<'X—<O/ K>SO . _ o _
Poo <0 >0 Plw>o. g=Fo
- T il
ary 00 dm‘fg _ Er\aemsha (meas%. P 5 >

D (BT Mot X s




